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* ik c=3x%x10% m/s

PEASLEH h =6.63x103*% J-s

EFEHN e =160x10"° C

ETHE  m=0911x107" kg
EFREAEFTOHRES leV = 1.602x1071°)
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(A) 28C
(B) 30C
(C) 32°C
(D) 34C
(E) 36C

3.4 1 b PR T W 505 L 080 0000 K+ 0 DB A BB o T L
KEEBELE (Al—2 5K 5 —8K) «- KM EES 1.0m/s > BEZE 75 cm > H
5 {1 5 F B 0 % 0
(A) 0.67 Hz
(B) 1.48 Hz
(C) 2.65 Hz
(D) 3.78 Hz
(E) 4.23 Hz
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W —BgFaEMN2  H—PHIWAEEMN 29 MEBLCHNESEERES T
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(A) 1.4
(B) 1.6
(C) 1.8
(D) 2.0
(E) 2.2
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B - Lo ER-EBRFERGAON R R - CXEE/NE RN E RS
2.0mA - ABL WAy FEB KGR ?

(A) 0.8 mW ’I

(B) 1.6 mW

(C) 2.2 mW L5V "= .

(D) 2.5 mW

(E) 3.0 mW & 1
B (V) 0 0.10 0.20 0.30 0.40 0.50
B 0 0.02 pA | 0.90pA | 41 pA | 2.0 mA | 96 mA

6. NHENHBEBRERES AN v=gr W& @ LYEHF —&E T R ®EEK
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L RF R £ () 1.28 1.27 1.28 1.28 1.28 1.27 1.28 1.27

THI AR F RN KB ¢ 0975 155 B HC 3 3R v o (7] & 5 fE M E HE 3% R I
HERHE AR 2
2 IH (A) (B) (©) (D) (E)
t 1Y 2R {E (s) 1.27625 1.276 1.28 1.28 1.28
v (m/s) 12.50725 12.5 12.50 12.51 13




#%

3 H IIFHEH
7TH VIR

7. E—/KFHES - REERW > AEPEREr SEPEE R BihE kP

T A B PR R RS > WIE 2 PR - HF —HHREAY — Un BRI Rl > S5 —dm DL PR
[f] Bz - ey e KRRy A A R 0 0 AllE 3 Fron o AIE W2 T S — e R IRF -
P E K P EFERERBE WA FEE ?
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(D) sin@=r/R lR
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(E) cos@=r/ 2 8 3
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10 B FReEBinRmBHTEE 4.2V WEER - H UK KR 200nm /Y E K 4 4 /9 &
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(A) 9.9x1077 J
(B) 6.4x107 J
(C) 4.3x1077 7
(D) 3.2x1077 J
(E) 0
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D) W+p,Vg+mg

(E) W—-p,Vg+mg \@ / \® /
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